LT
203503 Fol =
) WS =977 o =A K3
g A 2ol T I ver
H =08 G0
T =9quls 976 7,0650) SR
I> y.
3 H )
W 8 0t

e 4 a
e X 0 W
“UIUS) 1S918aU Y[} 0] SIOMSUR PUNOY "aPIS 10 S[SUe pajedIpul Yoea JO anfea a) puly ‘¢

01“ [ _ o\m\\_mwm =d 7 alT_nm\@ =V 7
zzige=due (o 96660 =d UIs (q 8% 0=Vvsoo (e

‘O13Bd YoBa 2413 p[nom jeyl(aa18ap e Jo y3ua) 3sa1eau 3yl o) ,szm syipuly ‘¢

agL g =9zue [ T =o€1s02 (q 342 0 = ogGuIs (e

“(saoe(d [ewap 99113 01) UWLIO} [EWIDLP Ul oljel paismbar oy puly 7

ze£Z 'l = B SHM aJ ‘W 03 ax1soddQ
— 3 - N
30 = Z- m..@\_ = A S02 & i1 01 a1soddp
2 =
20 = mw _ UL =pus 0 1 03 yuadelpy
L ;] \@
510 = . % =uel QI_ :asnuazodAy ay,
’ £ 9
@ 0 = mm,n — O] =7s00 :SIJEU] 3pIs ay3 Jo y3Sua] ayy pulq (e
S
& ¥ @ = @ J D.' =T uIs 01 1
€3 W
*(srerrdoadde adaym saoepd eurep ¢ 03)
ULIO) [EWLIDOP UL pUE 9 8
uLI0] UOnDEL Ul okl palmbal yoes s {q : 0 T
> _ - Anpwouodi], 17 tendey)

g Vu“ PUIBN 0% solewiaylep]



5 A : R
g L, h} i) 200
B
gcm 8.0cm
ft c H
dan € = Z ol
5 0
C= deny ' [ £ . =
N\ - ﬁ\mx Uabpmu 2.0
= Bemao

g) T.\Tom h) :.Jnﬁﬁ 0 m\ﬂdﬁﬁs

5. Complete the following problems on a separate piece of paper.

i) Sketch a GOOD diagram with all information labelled on it (including missing side/angle).
ii) Write the trigonometric mm&o you will use.

iii) Solve for the indicated side/angle. Show your work.

iv) Round to 2 decimal places where appropriate.

v) Include units in your answer.

il y&w ¥ m_ T .ww..ﬁwaw.?
a)} A small plane is flying at an altitude of 1000m and is mooﬁz@dg the beginning of the landing
#*: strip. What is the angle between the ground and Hrm line of sight from an observer at the
beginning of the landing strip? o @. o LG
P! poo™ ,
um.lm_ ! & = fon™ Hmﬁw = 6343
b} A guy wire E&. Sto support a tower. The angle between the wire and the level ground is 56¢.
One end of the wire is 15.4 m from the base of the tower. How high up the tower does the wire
reach? danSti= X
% [ W W Ty n\ Wul
o ' . o i . L
e ~ = (5 Fansh = LAZ
¢) A factory manager plans to install a 30 ft. long conveyor that rises 1\ ft. from the road to the
loading dock. What is the angle of inclination of the conveyor?

X N
20% + smné =L . SR
h ..N.ﬂ,.f S0 Lml,w\.maw _ _D:Lbﬁc

& = 5in 4=
d) A hiker saw a hoodoo on a cliff at Willow Creek in Alberta’s badlands. The hiker was 9.1 m from
the base of the cliff. From that point, the angle between the level ground and the line of sight to
the top of the hoodoo was 68°. About how Em: was the top of the hoodoo above level ground?

/| tan (8 = D
n\ Y = D L.;Q, n b w\.\m/ M.N.Wu m i)
e} The baseofa mmamw is on level ground 1.3'm ?95 a <<m: The adder l6ans againstthewall. The
angle between the ladder and the mwo:sm is 70°. How long is the ladder?
* 0570 = |, = L2
I e
fy A Em%mﬁocmmv slide starts 107 cm above the ground and is 250 cm long. What angle does the
slide make ssg the ground? =14 0 = 167
7 31?3 M@G Crn n o T50 } o
&= st h Mﬁ P f\z%l/L
g} An airplane approaches an airport. Ata certain tilne, it is 939 m high. Its angle of elevation
measured from the airport is 19.5°. How far is the plane from the airport?

A sint4s’ = a%s = 94%4 =
\\;: 439 rn S R 2

h) A water bomber is flying at an altitude of 5000 ft. The plane’s radar shows that is is 8000 ft.
from the tar rget site. What is the msm_m of elevation of the plane Bmmmzamm ?oE the target site?
P NG = 5992 29 s0?°

nm. mﬁufuﬁw.m )mb L Jrum\wﬁuﬁm u m. vﬁm.
i) The Pioneer ski lift at Golden, B.C, is 1366 m long. Itrises 522 m <m&nm5\. s\rmﬁ is the angle of
inclination of the ski lift? o - 572
b0 srad = ===
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